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The two theorems tell us:

If at least two sides of a triangle are 
congruent, the triangle is isosceles.

If at least two angles of a triangle 
are congruent, the triangle is 

isosceles.



Theorem 20: If two sides of a triangle are 
congruent, the angles opposite the sides are 
congruent. (                    )If    , then   .

The inverse of Theorem 20 is true:
If two sides of a triangle are not congruent, then 
the angles opposite them are not congruent, and 
the larger angle is opposite the longer side.
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